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1 Go to the next page. 

 
 
 
1 Which choice is the graph of y = (4 – x)(x + 2)? 
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2 Go to the next page. 

 
 
 
2 In which graph does the shaded region represent the solution set for the inequality 
 shown below? 
 

2x – y < 4 
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3 Go to the next page. 

 
 
 
3 Which expression is equivalent to (x + 2)(3x – 3)? 

 A 3x2 – 6 

 B 3x2 + 3x – 6 

 C 3x2 + 6x – 6 

 D 3x2 + 9x – 6 
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8 Go to the next page. 

 
 
 
12 A company uses the formula T = 581s + 150p to determine the total cost to 
 purchase s computers and p printers. Which formula can be used to determine the 
 number of printers purchased, given the total cost, T, and the number of 
 computers purchased? 

 A 581
150
Tp s= �   

 B 581
150

sp T= �  

 C 581
150

T sp �=  

 D 581 150p T s= � �   
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9 

 
 
 
Questions 13 through 15 are gridded response items that require you to write 
your answers in the boxes provided on your answer sheet. Write only one 
number or symbol in each box and fill in the circle in each column that matches 
what you have printed. Fill in only one circle in each column. 
 
 
13 What is the value of the positive zero of the function, f, defined by  
 f(x) = x2 – 121? 

 

 

 

14 What is the value of x in the system of equations shown below? 

5x + 4y = 1 

y = 1 – x 

 

 

 

15 What is the value of the smaller zero of the function f(x) = 2x2 – 8x – 24? 

 
 

 

 

 

 

 

 

This is the end of the calculator inactive released items. 
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12 Go to the next page. 

 
 
 
17 A set of nine data points is shown below.  

8, 11, 12, 10, 9, 7, 5, 3, 9 
 

 Which statement is true if a tenth data point of 45 is added to the data set?  

 A The mean and median will both increase. 

 B The mean will increase and the median will decrease. 

 C The mean will increase and the median will remain the same. 

 D The mean and median will both decrease. 
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13 Go to the next page. 

 
 
 
Questions 18 and 19 are gridded response items that require you to write your 
answers in the boxes provided on your answer sheet. Write only one number or 
symbol in each box and fill in the circle in each column that matches what you 
have printed. Fill in only one circle in each column. 
 
 
18 What is the distance, in units, between the y-intercept of f(x) = x2 + 7x – 18 and 
 the y-intercept of the linear function that passes through the points shown in the 
 table below? 

 

 

 

 

 

 

 

 
19 What is the value of x in the equation shown below? 

2(x + 8) – 4x = 10x + 4 

 
 

 

 

  

x g(x) 
–5 2 

10 11 

25 20 

60 41 
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14 Go to the next page. 

 
 
 
20 This is a paper/pencil copy of an online technology enhanced item. 

 

 

 

 

 

 

 

 

 

 

 

 

21 Which equation represents the line that is perpendicular to the graph 
 of 4x + 3y = 9 and passes through (–2, 3)? 

 A 3x – 4y = –18 

 B 3x + 4y = 18 

 C 3x – 4y = –6 

 D 3x + 4y = 6 
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15 Go to the next page. 

 
 
 
22 A club began with 3 members.  Each month, each member brought one new 
 member. Which function can be used to determine the number of members 
 x months after the club began? 

 A f(x) = 2x + 3 

 B f(x) = 3x + 1 

 C f(x) = 1.5(2)x 

 D f(x) = 3(2)x 
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17 Go to the next page. 

 
 
 
25 Karen has two dogs. The larger dog weighs 1.4 pounds more than the smaller  
 dog. The combined weight of the two dogs is 12.6 pounds. What is the weight,  
 in pounds, of the smaller dog? 
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18 Go to the next page. 

 
 
 
26 Which choice could be modeled by a linear function? 

 A the amount of money, y, in an account after x years earning 4% interest  
  compounded annually 

 B the monthly cost, y, to use a cell phone for x minutes at a rate of  
  4 cents per minute 

 C the height, y, of a ball after bouncing x times, if each bounce reaches 2
3

  

  the previous height 

 D the amount, y, of radioactive material remaining after x years when decay  
  occurs at a rate of 30% each year 
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19 Go to the next page. 

 
 
 
27 Oscar planted a tomato seed in his garden. Each day he recorded the height of the 
 tomato plant. 

 

 During which interval did the tomato plant grow the fastest? 

 A Day 4 to Day 6 

 B Day 6 to Day 8 

 C Day 8 to Day 10 

 D Day 10 to Day 12 
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